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9,066




S -2x+3=a+b(x-1)+c(x-1)%0] xof T3}
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3. thg ol xol g F5A0] HwS A, B %S HE 1, A+ B
e Fapoler.

4x-6=A(x+1)-B(x-1)

MolB & x9f ghofl TAIglo] /4 -t
mEhA] x = —1-& SO tYoHH,
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T, x =13 el tidstd,
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® a=-5b=4

S5 )
5S x+ o E04H

¥ tax-8=(x>+4x+b)(x+c)+3x+4
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Z, x-1 2 A&£0% U= 1 4= UHAZL &MU E d,c,b
7} H| AL upA g 5o] g oftt.

1 2 -3 -1 1
2
1 2 =l -2 (-1 « d

1

1 2 1] -1 <« ¢
2

2|_3<—b

N

a

a+b+c+d=3




10.

o T

o oo

A1 (3x% = x4+ 2)(4x3 = 5x% + x + 1)° 2 AL o, A5
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-og(l)y=3

2f(x) +
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2 e Yo Ae?

@—4x+7 @ —-4x-3 ® 2x+3
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